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No quiz today-we will go over
1.4 HW after Ms. Hansen
takes attendance and she will
check your 1.3 HW soon
after, so GET READYVY!
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Calculate the slope of the line between the given points. Use your answt%to‘i‘n)(i(iate which

line is the steepest. 2

<

%

Ready
Topic: applying the slope formula

1. A[?g’,%' B[f‘f’l%z 2. H(12,-37) K(4,-3)
-7
m = |7 - 19) = -S
=SHa T2
3. P(-11,-24) Q(21,40) 4. R(55,-75) W(-15,-40) @

Set  Topic: Investigating perimeters and areas

Adam and his brother are responsible for feeding their horses. In the spring and summer the horses
graze in an unfenced pasture. The brothers have erected a portable fence to corral the horses in a
grazing area. Each day the horses eat all of the grass inside the fence. Then the boys move it to a new
area where the grass is long and green. The porta-fence consists of 16 separate pieces of fencing each
10 feet long. The brothers have always arranged the fence in a long rectangle with one length of fence
on each end and 7 pieces on each side making the grazing area 700 sq. ft. Adam has learned in his

math rlacc that a rectannle ran have the ecame nerimeter hut difforent nrenc Ho ic heainninn tn o
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, 16a. Examine the graph at the left from 0 to 1.
HEEE R 7L HEER Which graph do you think is growing faster?
b. Now look at the graph from 2 to 3.

Which graph is growing faster in this interval?

T
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5. Fill in Adam's table wit rrangements for the fence. (The first one is done for you.)
. 7 a0 i

“fehililr;g;'l’lli?li s | fel‘fgjlgg’} LI:n s Length in ft. \V&idth in ft. Perimeter (ft) l?fl:;j
1 unit 7 units 10 ft 70 ft 160 ft 700 ft2
2 units o Unitz A0 29, 160 ft (200
3 units Auni 20 »0D 160 ft \% 00
4 units Huant 40D HD 160 ft (OO
5 units ’5 60 20 160 ft IB OD oK
6 units 7 (00 20 160 ft ,'2 9]0)
7 units [ “10 0 160 ft 00

6. Discuss Adam'’s findings. Explain how you would rearrange the sections of the porta-fence so
that Adam will be able to do less work.

C- 40t %o

8.50x11.00 in 4
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7. Make a graph of Adam's

investigation. Let length be the
independent variable and

area be the dependent variable.
Label the scale.

000

8. What is the shape of your graph?

9. Explain what makes this function

be a quadratic. 6

8.50x11.00 in d | L} | b
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1.5 Look Out Below!
A Solidify Understanding Task

What happens when you drop a ball? It falls to the ground.

That question sounds as silly as “Why did the chicken cross the
road?” [To get to the other side.) Seriously, it took scientists until
the sixteenth and seventeenth centuries to fully understand the
physics and mathematics of falling bodies. We now know that
gravity acts on the object that is falling in a way that causes it to
accelerate as it falls. That means that if there is no air resistance, it falls faster and faster, covering

more distance in each second as it falls. If you could slow the process down so that you could see
the position of the object as it falls, it would look something like the picture below.

To be more precise, objects fall at a constant rate of acceleration on earth of about 32

. feet per second per second. . The simplest case occurs when the object starts from

5 rest, that is, when its speed is zero when t = 0. In this case, the object's instantaneous
speed after 1 second is 32 feet per second; after 2 seconds, its instantaneous speed is

[ 2(32) = 64 feet per second; and so on. Other planets and moons each have a different
rate of acceleration, but the basic principal remains the same. If the acceleration on a
particular planet is g, then the object’'s instantaneous speed after 1 second is g units

[ per second; after 2 seconds, its instantaneous speed is 2g units per second; and so on.

o In this task, we will explore the mathematics of falling objects, but before we start

thinking about falling objects we need to begin with a little work on the relationship
between speed, time, and distance.

-]

Part 1: Average speed and distance travelled

Consider a car that is traveling at a steady rate of 30 feet per second. At time t= 0, the driver of the
car starts to increase his speed (accelerate] in order to pass a slow moving vehicle. The speed
increases at a constant rate so that 20 seconds later, the car is traveling at a rate of 40 feet per
second.

6@daph the car's speed as a function of time for this 20-second time interval.

Aug 19-12:07 PM
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b. Calculate the average speed of the car for this 20-second time interval.

20+40 _ +
= 35 {t/eec

¢. Find the total distance the car travels during this 20-second time interval.

36”/9« (’leec) = J00.

d. Explain how to use area to find the total distance the car travels during this 20-second
interval. ) +h e OVron
of revty g h

aer 0y 2-0.
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This problem illustrates an important principle: If an object is traveling with constant
acceleration, then its average speed over any time interval is the average of its beginning
speed and its final speed during that time interval.

Let's apply this idea to a penny that is dropped (initial speed is 0 when t = 0) from the top of the
Empire State Building. (Q.F.\— Ise C PQY'
sec

1. What will its speed be after 1 second?

(o £+ fse

2. Graphth
sv“a

enny's speed as a function of time in the 1 second interval.

...........................................................................

............................................................................

24
1® -
24 0 O
G o
s 3 .
S lo time

3. What is the average speed of the penny in the 1-second interval?
2 sec.

4. What is the total distance that the penny fell in the 1-second interval?
d=rt d= 28 |
AiStance = rate x Himg ¢
/;\l (5 - Qd & = 3ﬂ—
K
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Part 2: Falling, Falling, Falling

September 09, 2016

When the astronauts went to the moon, they performed Galileo's experiment to test the idea that
any two objects, no matter their mass, will fall at the same rate if there is no air resistance (like on

the moon). Because the moon doesn't have air resistance, we are going to pretend like we're the

astronauts dropping moon rocks and thinking about what happens. On the surface of the moon the
constant acceleration increases the speed of a falling object by 6 feet per second each second. That
is, if an object is dropped near the surface of the moon (e.g./its initial speed is zero when £ = 0], then

the object’s instantaneous speed after 1 second is 6 feet per second, after 2 seconds, its
instantaneous speed is 12 feet per second, and so on.

1. Using this information, create a table for the speed of an object that is dropped from a
height of 200 feet above the surface of the moon as a function of the elapsed time (in

secords) sig:

i—.( me

%it was dropped.

O
I
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3

4
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o
3
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2/2 =
(‘8;2.'-01
| 2-

15
1D
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vk height 60
200
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b
| &%
D12
|25

92
53

B

4%

B

54

~/\,Zs-rv\.

=43

2. Add another column to your table to keep track of the distance the object has fallen as a
function of elapsed time. Explain how you are finding these distances.

d.stance - avyg spe e % Hiwg
3. Approximately how long will it take for the object to hit the surface of the moon?

2 Bsec

4. Write an equation for the distance the object has fallen as a function of elapsed time t.

ol= 2t =+

OR-

d (&)=

Aug 19-12:09 PM
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5. Write an equation for the height of the object above the surface of the moon as a function of

elapsed time t. )
hz200- %t*
OF \\(£)=200-2%
6. Suppose the object was not dropped, but was thrown downward from a height of 250 feet

above the surface of the moon with an initial speed of 10 feet per second. Rewrite your

equation for the height of the object above the surface of the moon as a function of elapsed
time t to take into account this initial speed.

7. How is your work on these falling objects problems related to your work with the rabbit
runs?

8. Why are the “distance fallen” and “height above the ground” functions quadratic?

Aug 19-12:10 PM
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